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=SS… ®……v™… ®…EÚ {…Æ˙“I……, 2014 
SENIOR SECONDARY EXAMINATION, 2014 

±…‰J……∂……∫j… 
ACCOUNTANCY  

∫…®…™… :  3 
4
1

 
P…h]‰ı 

{…⁄h……»EÚ : 80 

 {…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ˘∂… :  
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 
 1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â*  
  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 
 2. ∫…¶…“ |…∂x… + x…¥……™…« ΩÈ˛*  
  All the questions are compulsory.  
 3. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙ {…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â*  
  Write the answer to each question in the given answer-book 

only. 
 4.  V…x… |…∂x……Â ®…Â +…xi… Æ˙EÚ J…hb˜ ΩÈ˛, =x… ∫…¶…“ E‰Ú =k…Æ˙ BEÚ ∫……l… Ω˛“  ±…J…Â* 
  For questions having more than one part, the answers to those 

parts are to be written together in continuity. 
 5. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ / 

 ¥…Æ˙…‰v……¶……∫… Ω˛…‰x…‰ {…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ Ω˛“ ∫…Ω˛“ ®……x…Â*  
  If there is any error / difference / contradiction in Hindi & 

English versions of the question paper, the question of Hindi 
version should be treated valid. 

 6. i) ™…Ω˛ |…∂x… {…j… n˘…‰ J…hb˜…Â ®…Â  ¥…¶…HÚ ΩË˛ — + +…ËÆ˙ §…* 
  ii) J…hb˜ "+' ∫…¶…“ UÙ…j……Â E‰Ú  ±…B + x…¥……™…« ΩË˛* 
  iii) J…hb˜ "§…' E‰Ú n˘… ‰ ¶……M… ΩÈ˛, |…i™…‰EÚ ¶……M… ®…Â ∫……i… |…∂x… ΩÈ˛* {…Æ˙“I……l…‘ EÚ…‰  EÚ∫…“ BEÚ 

¶……M… E‰Ú ∫…¶…“ ∫……i… |…∂x……Â EÚ…‰ Ω˛±… EÚÆ˙x…… ΩË˛*   
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  i) This question paper contains two Parts — A and B. 
  ii) Part 'A' is compulsory for all candidates. 
  iii) Part 'B' has two portions. Every portion has a set of seven 

questions. Candidate can attempt only a set of seven 
questions of any one portion.  

 7. J…hb˜ |…∂x… ∫…ΔJ™…… +ΔEÚ |…i™…‰EÚ |…∂x… 
  + 1 – 8 1 
   9 – 14 2 
   15 – 21 4  
   22 – 23  6 
    

  §… 24 – 25 1 
   26 – 27 2 
   28 – 29 4  
   30  6 

+l…¥…… 
   24 – 25 1 
   26 – 27 2 
   28 – 29 4 
   30 6 
  Part Question Nos. Marks per question 
   A 1 – 8 1 
   9 – 14 2 
   15 – 21 4  
   22 – 23  6 
    

   B 24 – 25 1 
   26 – 27 2 
   28 – 29 4  
   30  6 

OR 

   24 – 25 1 
   26 – 27 2 
   28 – 29 4 
   30 6 
 8. |…∂x… ∫…ΔJ™…… 22 (J…hb˜-+) i…l…… 30 (J…hb˜-§…) ®…Â +…xi… Æ˙EÚ  ¥…EÚ±{… ΩÈ˛*  
  There are internal choices in Q. No. 22 ( Part-A ) and Q. No. 30  

( Part-B ). 
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J…hb˜ - + 
PART – A  

1. + v…±……¶… E‰Ú +…v……Æ˙ {…Æ˙ J™…… i… E‰Ú ®…⁄±™……ΔEÚx… EÚ“ EÚ…‰<« n˘…‰  ¥… v…™……Â E‰Ú x……®…  ±… J…B* 
 Write down the names of any two methods of valuation of goodwill on 

the basis of super profit. 1 
2. + +…ËÆ˙ §… 3 : 2 +x…÷{……i… ®…Â ±……¶… §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛* =xΩ˛…Âx…‰ ∫… EÚ…‰ 5

1  ¶……M… E‰Ú  ±…B 

∫……Z…‰n˘…Æ˙ §…x……™……* ∫… +{…x……  Ω˛∫∫…… {…÷Æ˙…x…‰ ∫……Z…‰n˘…Æ˙…Â ∫…‰ §…Æ˙…§…Æ˙-§…Æ˙…§…Æ˙ |……{i… EÚÆ˙i…… ΩË˛* ∫…¶…“ 
∫……Z…‰n˘…Æ˙…Â EÚ… x…™…… ±……¶…-Ω˛… x… +x…÷{……i… Y……i… EÚ“ V…B*  

 A and B are partners sharing profit in 3 : 2 ratio. They admit C as new 
partner for 5

1 th share. C gets his share from old partners equally. 

Calculate the new profit and loss sharing ratio of all partners. 1 
3. BC∫… i…l…… ¥……<« BEÚ °Ú…®…« ®…Â 2 : 1 E‰Ú +x…÷{……i… ®…Â ±……¶… §……Δ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛* =x…EÚ“ {…⁄ƒV…“ 

GÚ®…∂…: 60,000 Ø˚0 +…ËÆ˙ 30,000 Ø˚0 ΩË˛* =xΩ˛…Âx…‰ V…‰b˜ EÚ…‰ 4
1   Ω˛∫∫…‰ E‰Ú  ±…B |…¥…‰∂…  n˘™……* 

V…‰b˜ {…⁄ƒV…“ E‰Ú 35,000 Ø˚0 ±……i…… ΩË˛* M…÷{i… J™…… i… EÚ… ®…⁄±™… Y……i… EÚ“ V…B* 
 X and Y are partners in a firm sharing profit in 2 : 1 ratio.             

Their capitals are Rs. 60,000 and Rs. 30,000 respectively. They admit   
Z for 4

1 th share. Z brings Rs. 35,000 as capital. Find out the value of 
hidden goodwill. 1 

4. ∫……Z…‰n˘…Æ˙ EÚ“  x…¥…fi k… {…Æ˙ =i{…z… EÚ…‰<« n˘…‰ ∫…®…∫™……+…Â E‰Ú x……®…  ±… J…B* 
 Write the names of any two problems arising at the retirement of 

partner. 1 
5. ™… n˘ E÷Ú±… ∫…®{… k…™……ƒ 1,00,000 Ø˚0, E÷Ú±… n˘… ™…i¥… 20,000 Ø˚0, ∫…®{… k…™……Â E‰Ú  ¥…GÚ™… ∫…‰ 

|……{i… Æ˙… ∂… 85,000 Ø˚0 i…l…… ¥…∫…⁄±…“ ¥™…™… 2,000 Ø˚0 Ω˛…Â i……‰ ¥…∫…⁄±…“ J……i…‰ EÚ“ ±……¶…/Ω˛… x… 
Y……i… EÚ“ V…B* 

 If total assets are Rs. 1,00,000, total liabilities are Rs. 20,000, amount 
realised on sale of assets is Rs. 85,000 and realisation expense is    Rs. 
2,000, what will be the profit or loss on realisation ? 1 

6. ¥…Ω˛ n˘…‰ |…EÚ…Æ˙ E‰Ú +Δ∂… EÚ…Ëx…-∫…‰ ΩÈ˛  V…xΩÂ˛ BEÚ ∫……¥…«V… x…EÚ EÚ®{…x…“  x…M…« ®…i… EÚÆ˙ ∫…EÚi…“ ΩË˛ ? 
 What are the two types of shares which a public company can issue ? 
   1 
7. EÚ®{…x…“ E‰Ú Œ∫l… i…  ¥…¥…Æ˙h… ®…Â +Δ∂……Â E‰Ú  x…M…«®…x… {…Æ˙ §…^ı… EÚ…‰  EÚ∫… |…EÚ…Æ˙  n˘™…… V……i…… ΩË˛ ? 
 How is discount on issue of shares shown in the Balance Sheet of a 

company ? 1 
8. ®……Ω‰˛∑…Æ˙“  ±… ®…]‰ıb˜ x…‰ 100 Ø˚0 ¥……±…‰ 5000, 7% @Òh…{…j… 6% |…“ ®…™…®… {…Æ˙  x…M…« ®…i…  EÚB 

 V…x…EÚ… ∂……‰v…x… 4 ¥…π…« {…∂S……i… 5% |…“ ®…™…®… {…Æ˙  EÚ™…… V……x…… ΩË˛* ∂……‰v…x… {…Æ˙ n‰˘™… |…“ ®…™…®… J……i…‰ 
®…Â  EÚi…x…“ Æ˙… ∂… b‰˜ §…]ı EÚ“ V……BM…“ i…l…… b‰˜ §…]ı Ω˛…‰x…‰ ¥……±…‰ J……i…‰ EÚ… x……®…  ±… J…B* 
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 Maheshwari Limited issued 5000, 7% debentures of Rs. 100 each at a 
premium of 6% which are redeemable after 4 years at a premium of 
5%. What amount will be debited in premium on redemption account 
and write debit account name. 1 

9. +¥…Ëv… ∫……Z…‰n˘…Æ˙“ EÚ“ EÚ…‰<« n˘…‰ {… Æ˙Œ∫l… i…™……ƒ §…i……<B* 

 State any two situations of illegal partnership. 2 

10. ∫…“i…… i…l…… Æ˙“i…… 3 : 2 E‰Ú +x…÷{……i… ®…Â ±……¶…-Ω˛… x…  ¥…¶……V…x… EÚÆ˙i…‰ Ω÷˛B BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛* 
¥…‰ ®…“i…… EÚ…‰ ∫……Z…‰n˘…Æ˙“ ®…Â ∂…… ®…±… EÚÆ˙i…‰ ΩÈ˛ V……‰ ±……¶……Â E‰Ú 5

1   Ω˛∫∫…‰ E‰Ú  ±…B 20,000 Ø˚0 

J™…… i… E‰Ú ∞¸{… ®…Â ±……i…… ΩË˛* {…÷∫i…EÚ…Â ®…Â J™…… i… J……i……  ¥…t®……x… x…Ω˛” ΩË˛* +…¥…∂™…EÚ V…x…«±… 
|… ¥…Œπ]ı™……ƒ n˘“ V…B* 

 Sita and Rita are partners sharing profits and losses in the ratio of        
3 : 2 in a firm. They admit Mita into partnership who brings             
Rs. 20,000 as goodwill for 5

1 th share of profit. No goodwill account 

exists in the books. Give necessary journal entries. 2 

11. EÚ…‰<« S……Æ˙ ®…n˘…Â E‰Ú x……®…  ±… J…B V……‰ ®…fii…EÚ ∫……Z…‰n˘…Æ˙ E‰Ú =k…Æ˙… v…EÚ… Æ˙™……Â EÚ…‰ n‰˘™… Æ˙… ∂… EÚ“ M…h…x…… 
EÚÆ˙x…‰ E‰Ú  ±…B =∫…E‰Ú J……i…‰ ®…Â V…®…… EÚ“ V……i…“ ΩÈ˛* 

 Write the names of any four items which are credited to the account of 
a deceased partner while calculating the amount due to his legal 
representatives. 2 

12. °Ú®…« E‰Ú ∫…®……{…x… {…Æ˙  S…_‰ˆ ®…Â n‰˘x…n˘…Æ˙ 50,000 Ø˚0 E‰Ú ΩÈ˛  V…∫…EÚ“ ¥…∫…⁄±…“ 80% {…Æ˙ EÚ“ V……i…“ 
ΩË˛* ∫l……x……xi…Æ˙h… B¥…Δ ¥…∫…⁄±…“ ®…⁄±™… EÚ“ |… ¥…Œπ]ı n˘“ V…B* 

 At the dissolution of a firm debtors are shown in Balance Sheet of      
Rs. 50,000 which was realised on 80%. Give necessary entries of 
transfer and realised amount. 2 

13. V…Ëx…  ±…0 x…‰ 6,00,000 Ø˚0 EÚ“ ®…∂…“x… EÚ®…±… ∫…‰ J…Æ˙“n˘“* 50% ¶…÷M…i……x… S…ËEÚ u˘…Æ˙…  EÚ™…… 
M…™…… i…l…… ∂…‰π… E‰Ú  ±…B EÚ®{…x…“ ∫…®…i…… +Δ∂… 10 Ø˚0 ¥……±…‰ 20% |…§™…… V… {…Æ˙  x…M…« ®…i…  EÚ™…‰*  

 ={…Æ˙…‰HÚ ¥™…¥…Ω˛…Æ˙…Â EÚ“ V…Ëx…  ±…0 EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı n˘“ V…B* 

 Jain Ltd. purchased a machine of Rs. 6,00,000 from Kamal. 50% of 
the payment was made by cheque and for the remaining the company 
issued equity shares of Rs. 10 each at a premium of 20%. 

 Give necessary journal entries in the books of Jain Ltd. for the above 
transactions. 2 
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14. ∫…ΔV…™…  ±…0 x…‰ 1000, |…i™…‰EÚ 100 Ø˚0 ¥……±…‰ 10%  @Òh…{…j……Â EÚ…  x…M…«®…x… 10% §…^‰ı {…Æ˙ 
 EÚ™…… l……* <x… @Òh…{…j……Â EÚ… ∂……‰v…x… 5 ¥…π…« {…∂S……i… 10 Ø˚0 ¥……±…‰ ∫…®…i…… +Δ∂……Â ®…Â ∫…®…®…⁄±™… {…Æ˙ 
{… Æ˙¥…i…«x… u˘…Æ˙…  EÚ™……* ∂……‰v…x… E‰Ú ∫…®§…xv… ®…Â EÚ®{…x…“ EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ |… ¥…Œπ]ı™……ƒ 
n˘“ V…B* 

 Sanjay Ltd. issued 1000, 10% debentures of Rs. 100 each at 10% 
discount. These debentures were redeemed after 5 years by converting 
into equity shares of Rs. 10 each at par. Make necessary journal 
entries regarding redemption in the books of the company. 2 

15. {…¥…x… i…l…… Æ˙…V…⁄ BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛  V…xΩ˛…Âx…‰ 1 +|…Ë±…, 2012 EÚ…‰ {…⁄ƒV…“ E‰Ú           
2,00,000 Ø˚0 ¥… 3,00,000 Ø˚0 GÚ®…∂…: ±…M……B* ¥…π…« E‰Ú n˘…ËÆ˙…x… =xΩ˛…Âx…‰ ∫……Z…‰n˘…Æ˙“ ®…Â  x…®x… 
|…EÚ…Æ˙ + i… Æ˙HÚ {…⁄ƒV…“ ±…M……™…“*  
{…¥…x… u˘…Æ˙… ±…M……™…“ M…™…“ {…⁄ƒV…“ : 
1 V…÷±……<«, 2012 EÚ…‰ 50,000 Ø˚0 +…ËÆ˙˙ 1  n˘∫…®§…Æ˙, 2012 EÚ…‰ 1,00,000 Ø˚0*  
Æ˙…V…⁄ u˘…Æ˙… ±…M……™…“ M…™…“ {…⁄ƒV…“ :  
1  ∫…i…®§…Æ˙, 2012 EÚ…‰ 1,20,000  Ø˚0 * 

 ¥…π…« 2012-2013 E‰Ú  ±…B {…¥…x… i…l…… Æ˙…V…⁄ EÚ“ {…⁄ƒV…“ {…Æ˙ 10 |… i…∂…i… EÚ“ ¥……Ãπ…EÚ n˘Æ˙ ∫…‰ §™……V… 
EÚ“ M…h…x…… EÚ“ V…B* 

 Pawan and Raju are partners in a firm. They contributed Rs. 2,00,000 
and Rs. 3,00,000 respectively as capital on 1st April, 2012. They 
invested additional capital in the partnership during the year as  
under : 
Capital invested by Pawan : Rs. 50,000 on 1st July, 2012 and  
  Rs. 1,00,000 on 1st December, 2012 
Capital invested by Raju :    Rs. 1,20,000 on 1st September, 2012. 

 Calculate interest on Pawan's and Raju's capital @ 10% p.a. for the 
year 2012-2013. 4 

16.  EÚÆ˙h… B¥…Δ ∫…÷±…‰J…… ∫……Z…‰n˘…Æ˙ ΩÈ˛  V…x…EÚ“ {…⁄ƒV…“ GÚ®…∂…: 1,00,000 Ø˚0 i…l…… 80,000 Ø˚0 ΩË˛* 
{…⁄ƒV…“ {…Æ˙ §™……V… 10% ¥……Ãπ…EÚ EÚ“ n˘Æ˙ ∫…‰  ®…±…i…… ΩË˛* ¥…‰ ±……¶……Â EÚ…‰ 2 : 1 ®…Â  ¥…¶……V…x… EÚÆ˙i…“ 

ΩÈ˛* =xΩ˛…Âx…‰ Æ‰˙h…⁄ EÚ…‰ ∫……Z…‰n˘…Æ˙ §…x……™…… +…ËÆ˙ =∫…‰ ±……¶……Â ®…Â 4
1  ¶……M…  n˘™…… i…l…… =∫…‰ M……Æ˙h]ı“ n˘“  EÚ 

=∫…EÚ… ±……¶… EÚ…  Ω˛∫∫…… 40,000 Ø˚0 ¥……Ãπ…EÚ ∫…‰ EÚ®… x…Ω˛” Ω˛…‰M……* Æ‰˙h…⁄ 60,000 Ø˚0 +{…x…“ 

{…⁄ƒV…“ E‰Ú ∞¸{… ®…Â ±……<«* Æ‰˙h…⁄ EÚ…‰ +{…x…‰ 4
1   Ω˛∫∫…‰ ∫…‰ + v…EÚ |……{i… Ω˛…‰x…‰ ¥……±…‰ ±……¶……Â (M……Æ˙x]ı“ EÚ… 

+xi…Æ˙) EÚ…‰  EÚÆ˙h… B¥…Δ ∫…÷±…‰J…… 4 : 1 ®…Â ¥…Ω˛x… EÚÆÂ˙M…“* ¥…π…« E‰Ú +Δi… ®…Â {…⁄ƒ V…™……Â {…Æ˙ §™……V… n‰˘x…‰ 
∫…‰ {…Ω˛±…‰ ±……¶… 1,44,000 Ø˚0 Ω÷˛B* ±……¶…-Ω˛… x…  x…™……‰V…x… J……i…… §…x……<B* 
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 Kiran and Sulekha are partners with capital of Rs. 1,00,000 and      
Rs. 80,000 respectively. They are entitled to get interest at 10% p.a. 
They divided profit in the ratio of 2 : 1. They took Renu into 

partnership with 4
1 th share of profit and guaranteed her share of 

profits will not be less than Rs. 40,000 annually. Renu brought       Rs. 
60,000 as her capital and the excess profit received ( difference of 

guarantee ) by Renu over her 4
1  th share will be borne by Kiran and 

Sulekha in the ratio of 4 : 1. Profit at the end of the year before 
allowing interest on capital amounted to Rs. 1,44,000. Prepare Profit & 
Loss Appropriation Account. 4 

17. Ω˛Æ˙“∂…, ®…÷E‰Ú∂… +…ËÆ˙ ∫…Æ˙…°Ú BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛ V……‰ 2 : 1 : 1 E‰Ú +x…÷{……i… ®…Â ±……¶…-Ω˛… x… 
 ¥…¶……V…x… EÚÆ˙i…‰ ΩÈ˛* °Ú®…« EÚ“ {…÷∫i…EÂÚ |… i… ¥…π…« 31 ®……S…« EÚ…‰ §…Δn˘ EÚ“ V……i…“ ΩÈ˛* 31 +M…∫i…, 
2013 EÚ…‰ Ω˛Æ˙“∂… °Ú®…« ∫…‰ +¥…EÚ…∂… O…Ω˛h… EÚÆ˙i…… ΩË˛* 31 ®……S…«, 2013 EÚ…‰ ∫…®……{i… M…i… 
±…‰J……¥…π…« ®…Â °Ú®…« x…‰ 2,00,000 Ø˚0 EÚ… ±……¶… EÚ®……™……* S……±…⁄ ¥…π…« ®…Â ±……¶… M…i… ¥…π…« EÚ“ i…÷±…x…… 
®…Â 20% + v…EÚ Ω˛…‰x…‰ EÚ“ ∫…Δ¶……¥…x…… ΩË˛*  
+¥…EÚ…∂… O…Ω˛h… EÚ“  i… l… EÚ…‰ S……±…⁄ ¥…π…« EÚ… ±……¶… ®…Â Ω˛Æ˙“∂… EÚ…  Ω˛∫∫…… Y……i… EÚ“ V…B i…l…… V…x…«±… 
|… ¥…Œπ]ı EÚ“ V…B* 

 Harish, Mukesh and Saraf are partners in a firm sharing profits and 
losses in the ratio of 2 : 1 : 1. The books of the firm are closed on 31st 
March every year. Harish retires from the firm on 31st August, 2013. 
The firm earned a profit of Rs. 2,00,000 during the previous 
accounting year ended on 31st March, 2013. It is estimated that 
current year's profit would be 20% more over than previous year's 
profit. 

 On the date of taking retirement determine the share of Harish in the 
current year's profit and also make journal entries. 4  

18. {…“ ¥… C™…⁄ n˘…‰ ∫……Z…‰n˘…Æ˙ ΩÈ˛* 31 ®……S…«, 2013 EÚ…‰ ∫……Z…‰n˘…Æ˙…Â EÚ“ {…⁄ƒV…“ GÚ®…∂…: 2,00,000 Ø˚0 ¥… 
1,00,000 Ø˚0 ΩË˛ i…l…… ±…‰x…n˘…Æ˙ 60,000 Ø˚0 ΩË˛* <∫…“  i… l… EÚ…‰ °Ú®…« E‰Ú ∫…®……{…x… {…Æ˙ 
∫…®{… k…™……Â EÚ… ¥…∫…⁄±…“ ®…⁄±™… 1,80,000  Ø˚0 ΩË˛* ¥…∫…⁄±…“ J……i…… §…x……<B* 

  P and Q are two partners. On 31st March, 2013 capital of the partners 
are Rs. 2,00,000 and Rs. 1,00,000 respectively and creditors worth   
Rs. 60,000. Realisable value of assets is Rs. 1,80,000 on the same 
date, at the time of dissolution of the firm. Prepare Realisation 
Account. 4 
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19. ∫…®…i…… +Δ∂… +…ËÆ˙ {…⁄¥……« v…EÚ…Æ˙ +Δ∂… ®…Â EÚ…‰<« S……Æ˙ +Δi…Æ˙  ±… J…B* 
 Write any four differences between Equity Share and Preference Share.4 
20. +n˘Æ˙“∂…  ±…0 x…‰ 2000 ∫…®…i…… +Δ∂… 10 Ø˚0 |… i… +Δ∂… ¥……±…‰ EÚ… Ω˛Æ˙h…  EÚ™……,  V…x… {…Æ˙      

10 Ø˚0 |… i… +Δ∂… ®……ƒM…… M…™…… l……* <x… +Δ∂……Â {…Æ˙ 3 Ø˚0 |… i… +Δ∂…  u˘i…“™… ®……ƒM… E‰Ú §…EÚ…™…… l…‰* 
EÚ®{…x…“ x…‰ <xΩÂ˛ 9 Ø˚0 |… i… +Δ∂… {…⁄h…« n˘k… {…Æ˙ {…÷x…: x…M…« ®…i… EÚÆ˙  n˘™…‰* +…¥…∂™…EÚ V…x…«±… 
|… ¥…Œπ]ı™……ƒ §…x……<B* 

 Adrish Ltd. forfeited 2000 equity shares of Rs. 10 each on which      
Rs. 10 per share was called up. There were arrears of Rs. 3 each of 
Second Call on these shares. Company reissued these shares at       
Rs. 9 per share as fully paid up. Make necessary journal entries. 4 

21. §……‰ Ω˛i…  ±…0 x…‰ 10000, 9% @Òh…{…j… 100 Ø˚0 ¥……±…‰ ∫…®…®…⁄±™… {…Æ˙  x…M…« ®…i…  EÚ™…‰* @Òh…{…j……Â 
EÚ… ∂……‰v…x… 6% |…“ ®…™…®… {…Æ˙  x…®x……x…÷∫……Æ˙  EÚ™…… V……x…… ΩË˛ : 

 |…l…®… ¥…π…« — ∂…⁄x™…,  u˘i…“™… ¥…π…« — 5,00,000 Ø˚0, i…fii…“™… ¥…π…« — ∂…⁄x™…,                
S…i…÷l…« ¥…π…« — 5,00,000 Ø˚0 * 

 |… i… ¥…π…« +{… ±… J…i… EÚ“ V……x…‰ ¥……±…“ @Òh…{…j……Â E‰Ú  x…M…«®…x… {…Æ˙ §…^‰ı EÚ“ Æ˙… ∂… EÚ“ M…h…x…… 
EÚ“ V…B*  

 Bohit Ltd. issued 10000, 9% debentures of Rs. 100 each at par. 
Debentures are to be redeemed at a premium of 6% as follows : 

 1st year — Nil, 2nd year — Rs. 5,00,000, 3rd year — Nil,                 
4th year — Rs. 5,00,000. 

 Calculate the amount of discount on issue of debentures which should 
be written off in each year. 4 

22. ∫…⁄Æ˙V… +…ËÆ˙ S…Δn˘… 2 : 1 E‰Ú +x…÷{……i… ®…Â ±……¶…-Ω˛… x… §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛* 31 ®……S…«, 2013 EÚ…‰ 
=x…EÚ…  S…_ˆ…  x…®x… |…EÚ…Æ˙ l…… : 

31 ®……S…«, 2013 EÚ…  S…_ˆ… 

n˘… ™…i¥… Æ˙… ∂… 
Ø˚0 ∫…®{… k… Æ˙… ∂… 

Ø˚0 
±…‰x…n˘…Æ˙˘ 
∫……®……x™… ∫…ΔS…™…˘ 
{…⁄ƒV…“ J……i…… : 
      ∫…⁄Æ˙V…       1,20,000 
       S…Δn˘…˘         60,000 

30,000 
30,000 

 
 
 

1,80,000 
 
 
 

2,40,000 

x…EÚn˘ ∂…‰π…˘ 
§…ÈEÚ ∂…‰π… 
 ¥… ¥…v… n‰˘x…n˘…Æ˙˘        60,000 
P…]ı…™…… : +…™……‰V…x…    24,000 
Æ˙Ω˛ i…™…… 
®…∂…“x…˘ 
°Úx…‘S…Æ˙˘ 
J™…… i… 

20,000 
19,000 

 

36,000 
90,000 
29,000 
10,000 
36,000 

2,40,000 
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 1 +|…Ë±…, 2013 EÚ…‰ ¥…‰ i……Æ˙… EÚ…‰ 3
1   Ω˛∫∫…‰ E‰Ú  ±…B |…¥…‰∂… n‰˘i…‰ ΩÈ˛* ¥…Ω˛ +{…x…‰  Ω˛∫∫…‰ EÚ“ 

J™…… i… E‰Ú  ±…B ¥™……{……Æ˙ ®…Â x…EÚn˘ ¶…÷M…i……x… EÚÆ˙i…“ ΩË˛ i…l…… <i…x…“ {…™……«{i… {…⁄ƒV…“ ±……i…“ ΩË˛  V…∫…∫…‰  EÚ 

=∫…‰ x…<« °Ú®…« EÚ“ E÷Ú±… {…⁄ΔV…“ EÚ… 3
1  ¶……M…  n˘™…… V…… ∫…E‰Ú* °Ú®…« EÚ“ J™…… i… EÚ… ®…⁄±™……ΔEÚx… M…i… 

i…“x… ¥…π…« E‰Ú +…Ë∫…i… ±……¶… E‰Ú i…“x… M…÷x…‰ E‰Ú +…v……Æ˙ {…Æ˙  EÚ™…… V……i…… ΩË˛* <x… ¥…π……Á E‰Ú ±……¶… ™…… 
Ω˛… x… GÚ®…∂…: 30,000 Ø˚0, 35,000 Ø˚0 (Ω˛… x…) +…ËÆ˙ 50,000 Ø˚0 l…‰* ™…Ω˛ ¶…“  x…∂S…™… 
 EÚ™…… M…™……  EÚ n‰˘x…n˘…Æ˙…Â {…Æ˙ +…™……‰V…x… EÚ…‰ 9,000 Ø˚0 i…EÚ P…]ı…™…… V……™…‰ +…ËÆ˙ Æ˙Ω˛ i…™…‰ EÚ… 
{…÷x…®…⁄«±™……ΔEÚx… 1,20,000 Ø˚0 {…Æ˙  EÚ™…… V……™…‰* ®…∂…“x… EÚ…‰ 20,000 Ø˚0 i…EÚ P…]ı…™…… V……™…‰* 

 ={…Æ˙…‰HÚ ¥™…¥…Ω˛…Æ˙…Â E‰Ú  ±…B V…x…«±… |… ¥…Œπ]ı™……ƒ n˘“ V…B i…l…… {…÷x…®…⁄«±™……ΔEÚx… J……i…… §…x……<B* 
 Suraj and Chanda are partners sharing profit and loss in the ratio of   

2 : 1. Their Balance Sheet as on 31st March, 2013 is as follows : 

Balance Sheet as on 31st March, 2013 

Liabilities 
Amount 

Rs. Assets 
Amount 

Rs. 
Creditors 
General Reserve 
Capital A/c : 
      Suraj    1,20,000 
      Chanda   60,000 

30,000 
30,000 

 
 

1,80,000 
 
 
 

2,40,000 

Cash Balance 
Bank Balance 
Sundry Debtors   60,000 
Less :  Provision  24,000 
Stock 
Machine 
Furniture 
Goodwill 

20,000 
19,000 

 
36,000 
90,000 
29,000 
10,000 
36,000 

2,40,000 
 On 1st April, 2013 they admit Tara for 3

1 rd share. She pays cash in 

the business for her share of goodwill and brings sufficient capital so 

that she can be given 3
1 rd share of the total capital of the new firm. 

The goodwill of the firm is to be valued at three times of average profit 
of the last three years. Profit or loss of these three years were           
Rs. 30,000, Rs. 35,000 (Loss) and Rs. 50,000. It was also decided that 
the Provision on debtors be reduced up to Rs. 9,000 and Stock is to be 
revalued at Rs. 1,20,000. The machine is to be reduced up to            
Rs. 20,000.  

 Pass journal entries for the above transactions and prepare 
Revaluation Account. 6 

+l…¥……  / OR 
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 ∂……±…⁄,  ]ı{∫…“ i…l…… +Δ∂…÷±… 1: 2 : 3 +x…÷{……i… ®…Â ±……¶…-Ω˛… x… §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛* 31 ®……S…«, 
2013 EÚ…‰ ∫…®……{i… ¥…π…« E‰Ú  ±…B =x…EÚ…  S…_ˆ…  x…®x… |…EÚ…Æ˙ ΩË˛ : 

31 ®……S…«, 2013 EÚ…  S…_ˆ… 

n˘… ™…i¥… Æ˙… ∂…
Ø˚0 ∫…®{… k… Æ˙… ∂… 

Ø˚0 
{…⁄ƒV…“ J……i…… : 
    ∂……±…⁄               36,000 
     ]ı{∫…“              24,000 
    +Δ∂…÷±…             12,000 
∫……®……x™… ∫…ΔS…™… 
n‰˘™…  ¥…{…j… 
±…‰x…n˘…Æ˙ 

 
 
 
 

72,000 
18,000 
18,000 
16,000 

1,24,000 

¶…⁄ ®… B¥…Δ ¶…¥…x…
∫…Δ™…Δj… ¥… ®…∂…“x…Æ˙“ 
°Úx…‘S…Æ˙ 
Æ˙…‰EÚc˜ 
|……{™…  §…±… 
n‰˘x…n˘…Æ˙ 
∫]ı…ÏEÚ 

20,000 
40,000 
16,000 
20,000 
3,000 

13,000 
12,000 

1,24,000 
 ∂……±…⁄ °Ú®…« ∫…‰ 1 +|…Ë±…, 2013 EÚ…‰ +¥…EÚ…∂… O…Ω˛h… EÚÆ˙i…… ΩË˛* +¥…EÚ…∂… O…Ω˛h…  i… l… EÚ…‰ 

∫…®{… k…™……Â ¥… n˘… ™…i¥……Â EÚ… {…÷x…®…⁄«±™……ΔEÚx…  x…®x… |…EÚ…Æ˙  EÚ™…… M…™…… : 
i) ¶…⁄ ®… ¥… ¶…¥…x… EÚ… ®…⁄±™… 33,000 Ø˚0 i…EÚ §…g¯…x…… ΩË˛ 
ii) {±……Δ]ı ¥… ®…∂…“x…Æ˙“ EÚ… ®…⁄±™… 48,000 Ø˚0 +…ΔEÚ… M…™…… 
iii) °Úx…‘S…Æ˙ EÚ… ®…⁄±™… 10% ∫…‰ P…]ı…x…… ΩË˛ 
iv) n‰˘x…n˘…Æ˙…Â {…Æ˙ 20% EÚ… b⁄˜§…i… @Òh… EÚ… |……¥…v……x… EÚÆ˙x…… ΩË˛ 
v) ∫]ı…ÏEÚ EÚ… ®…⁄±™… 15,000 Ø˚0 +…ΔEÚ… M…™…… 
vi) °Ú®…« EÚ“ J™…… i… EÚ… ®…⁄±™……ΔEÚx… 30,000 Ø˚0 {…Æ˙  EÚ™…… M…™……* ™…Ω˛ ¶…“  x…Œ∂S…i…  EÚ™…… 

M…™……  EÚ ∂……±…⁄ E‰Ú +¥…EÚ…∂… O…Ω˛h… E‰Ú {…∂S……i… ±…‰V…Æ˙ {…÷∫i…EÚ…Â ®…Â J™…… i… x…Ω˛”  n˘J……™…“ 
V……™…‰M…“* ( ±…‰J…… ®……x…EÚ 26 E‰Ú +x…÷∫……Æ˙) 

∂……±…⁄ E‰Ú +¥…EÚ…∂… O…Ω˛h… {…Æ˙ {…÷x…®…⁄«±™……ΔEÚx… J……i…… i…l…… ∫……Z…‰n˘…Æ˙…Â E‰Ú {…⁄ƒV…“ J……i…‰ §…x……<B* 
 Shalu, Tipsy and Ansul are partners sharing profits and losses in the 

ratio of 1 : 2 : 3. Their Balance Sheet as on 31st March, 2013 is as 
follows : 

Balance Sheet as on 31st March, 2013 

Liabilities 
Amount 

Rs. Assets 
Amount 

Rs. 
Capital A/c 
    Shalu            36,000 
    Tipsy             24,000 
    Anshul          12,000 
General Reserve 
Bills Payable 
Creditors 

 
 
 

72,000 
18,000 
18,000 
16,000 

1,24,000 

Land and Building 
Plant and Machinery 
Furniture 
Cash 
Bills Receivable 
Debtors 
Stock 

20,000 
40,000 
16,000 
20,000 
3,000 

13,000 
12,000 

1,24,000 
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 Shalu retires from the firm on 1st April, 2013. The Assets and 
Liabilities on retirement date was revalued as follows : 

i) Value of Land and Building is increased up to Rs. 33,000 

ii) The Plant and Machinery is valued at Rs. 48,000 

iii) The value of Furniture is reduced by 10% 

iv) Provide 20% on Debtors as Provision for doubtful debts 

v) The value of stock is to be valued at Rs. 15,000 

vi) The Goodwill of the firm is valued Rs. 30,000. It is also decided 
that after retirement of Shalu, Goodwill not be shown in the 
books. (As per Accounting Standard 26 ) 

 Make Revaluation Account and Partners' Capital Account on the 
retirement of Shalu. 6 

23. ®……‰ Ω˛x…“  ±…0 x…‰ 10 Ø˚0 ¥……±…‰ 10000 ∫…®…i…… +Δ∂……Â E‰Ú 10% |…“ ®…™…®… {…Æ˙  x…M…«®…x… Ω‰˛i…÷ 
+…¥…‰n˘x… {…j… +…®…Δ j…i…  EÚ™…‰* Æ˙… ∂… <∫… |…EÚ…Æ˙ n‰˘™… l…“ : 

 +…¥…‰n˘x… {…Æ˙ 4 Ø˚0 (|…“ ®…™…®… ∫… Ω˛i…), §…Δ]ıx… {…Æ˙ 4 Ø˚0 +…ËÆ˙ ∂…‰π… |…l…®… B¥…Δ +Δ i…®… ®……ƒM… {…Æ˙* 
25000 +Δ∂……Â E‰Ú  ±…B +…¥…‰n˘x… {…j… |……{i… Ω÷˛B* 5000 +Δ∂……Â E‰Ú  ±…B +{…⁄h…« +…¥…‰n˘x… {…j… Æ˙n¬˘n˘ 
EÚÆ˙  n˘™…‰ +…ËÆ˙ Æ˙… ∂… ±……Ë]ı… n˘“* ∂…‰π… +…¥…‰n˘x… {…j……Â {…Æ˙ ™…l……x…÷{……i… §…Δ]ıx…  EÚ™……* +…¥…‰n˘x… EÚ“ 
+ v…EÚ |……{i… Æ˙… ∂… EÚ… §…Δ]ıx… E‰Ú  ±…B |…™……‰M… EÚÆ˙i…‰ ΩÈ˛* ®……‰Ω˛x…  V…∫…x…‰ 2000 +Δ∂……Â E‰Ú  ±…B 
+…¥…‰n˘x…  EÚ™…… l…… §…Δ]ıx… i…l…… |…l…®… B¥…Δ +Δ i…®… ®……ƒM… Æ˙… ∂… EÚ… ¶…÷M…i……x… x…Ω˛” EÚÆ˙ ∫…EÚ… +…ËÆ˙ 
=∫…E‰Ú +Δ∂… V…§i… EÚÆ˙  ±…™…‰* <x… ∫…¶…“ +Δ∂……Â E‰Ú 8 Ø˚0 |… i… +Δ∂… EÚ“ n˘Æ˙ ∫…‰ {…⁄h…« |…n˘k… ®……x…i…‰ 
Ω÷˛B {…÷x…Ãx…M…« ®…i…  EÚ™…‰* EÚ®{…x…“ EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ EÚ“ V…B* 

 Mohini Ltd. invited applications for the issue of 10000 equity shares of 
Rs. 10 each at 10% premium. The amount was payable as follows : 

 On Application Rs. 4 (including premium), on Allotment Rs. 4 and 
remaining on First and Final Calls. 

 Applications were received for 25000 shares. Incomplete applications 
of 5000 shares were cancelled and amount refunded. Remaining 
applications were allotted on pro-rata basis. Excess application money 
is used for allotment. Mohan who applied for 2000 shares could not 
pay allotment and First and Final Call money and his shares were 
forfeited. All these shares were re-issued @ Rs. 8 per share as fully 
paid up. Give necessary journal entries in the books of the company.  

   6 
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J…hb˜ - §… 

PART – B 

 J…hb˜ "§…' E‰Ú n˘…‰ ¶……M… ΩÈ˛, |…i™…‰EÚ ¶……M… ®…Â ∫……i… |…∂x… ΩÈ˛* {…Æ˙“I……l…‘ EÚ…‰  EÚ∫…“ BEÚ ¶……M… 

E‰Ú ∫…¶…“ ∫……i… |…∂x……Â EÚ…‰ Ω˛±… EÚÆ˙x…… ΩË˛* 

 Part 'B' has two portions. Every portion has a set of seven questions. 

Candidate can attempt only one set of seven questions of any one 

portion. 

24. Æ˙…‰EÚc˜ |…¥……Ω˛  ¥…¥…Æ˙h… EÚ…Ëx…-∫…‰ ±…‰J……ΔEÚx… |…®……{… E‰Ú +x…÷∫……Æ˙ §…x……™…… V……i…… ΩË˛ ? 

 Under which Accounting Standard, is Cash Flow Statement made ? 1 

25.  ¥… x…™……‰M… ∫…®§…xv…“  GÚ™……+…Â ∫…‰ Æ˙…‰EÚc˜ §… Ω˛¥……«Ω˛˛ EÚ“ n˘…‰ ®…nÂ˘  ±… J…B* 

 Write two items of cash outflows from investing activities. 1 

26. Æ˙…‰EÚc˜ |…¥……Ω˛  ¥…¥…Æ˙h… EÚ… +l…«  ±… J…B* 

 Write the meaning of Cash Flow Statement. 2 

27. EÚ®{…x…“ E‰Ú Œ∫l… i…  ¥…¥…Æ˙h… ®…Â S……±…⁄ ∫…®{… k… ∂…“π…«EÚ E‰Ú +xi…M…«i…  n˘J……<« V……x…‰ ¥……±…“ EÚ…‰<« n˘…‰ ®…nÂ˘ 
 ±… J…B* 

 Write any two items which are shown under the heading of Current 

Assets in the Balance Sheet of company. 2 

28.  x…®x… ∫…⁄S…x…… ∫…‰ i…÷±…x……i®…EÚ +…™…  ¥…¥…Æ˙h… §…x……<B : 

 31.3.2012 
Ø˚0 

31.3.2013 
Ø˚0 

 §…GÚ“ 
§…‰S…‰ M…™…‰ ®……±… EÚ… ±……M…i… ®…⁄±™… 
{… Æ˙S……±…x… ¥™…™… 
±……¶……Δ∂… |……{i… 
+…™…EÚÆ˙ n˘Æ˙ 

2,00,000 
1,00,000 

10,000 
20,000 

∂…÷r˘ ±……¶… EÚ… 50% 
EÚÆ˙ ∫…‰ {…⁄¥…« 

2,50,000 
1,30,000 

12,000 
20,000 

∂…⁄r˘ ±……¶… EÚ… 50% 
EÚÆ˙ ∫…‰ {…⁄¥…« 
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 From the following information, prepare a comparative Income 
Statement : 4 
 31.3.2012 

Rs. 
31.3.2013 

Rs. 
Sales 
Cost of goods sold 
Operating Expenses 
Dividend Received 
Income Tax Rate 

2,00,000 
1,00,000 

10,000 
20,000 

50% of Net Profit 
before tax 

2,50,000 
1,30,000 

12,000 
20,000 

50% of Net Profit 
before tax 

29.  x…®x… ±… J…i… ∫…⁄S…x……+…Â ∫…‰ {… Æ˙S……±…x…  GÚ™……+…Â ∫…‰ Æ˙…‰EÚc˜ |…¥……Ω˛  ¥…¥…Æ˙h… i…Ë™……Æ˙ EÚ“ V…B :  
   Ø˚0 

  S……±…⁄ ¥…π…« EÚ… ∂…÷r˘ ±……¶… 1,00,000 

  ∫……®……x™… ∫…ΔS…™… EÚ… Ω˛∫i……xi…Æ˙h… 10,000 

  n‰˘x…n˘…Æ˙…Â ®…Â EÚ®…“ 25,000 

  n‰˘™…  ¥…{…j……Â ®…Â EÚ®…“ 20,000 

  +{… ±… J…i… +Δ∂……Â {…Æ˙ §…^ı… 5,000 

  ∫]ı…ÏEÚ ®…Â ¥…fi r˘ 18,000 

  ®…∂…“x… §…‰S…x…‰ ∫…‰ Ω˛… x… 12,000 

   ¥… x…™……‰M… §…‰S…x…‰ ∫…‰ ±……¶… 4,000 

 From the following information, prepare Cash Flow Statement from 
operating activities : 4 

   Rs. 

  Net Profit of current year 1,00,000 

  Transferred to General Reserve 10,000 

  Decrease in Debtors 25,000 

  Decrease in Bills Payable 20,000 

  Discount on shares written off 5,000 

  Increase in Stock 18,000 

  Loss on sale of machine 12,000 

  Profit on sale of investment 4,000 
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30.  x…®x… ±… J…i… ∫…⁄S…x……+…Â ∫…‰ M…h…x…… EÚ“ V…B : 
i) |… i… +Δ∂… +V…«x… ii) |… i… +Δ∂… ±……¶……Δ∂… 
iii) ®…⁄±™… +V…«x… +x…÷{……i… iv) ∫…EÚ±… ±……¶… +x…÷{……i… 
v) ∫¥…… ®…i¥… +x…÷{……i… vi) ∫EÚxv… +…¥…i…« +x…÷{……i…* 
     
 EÚÆ˙ ∫…‰ {…⁄¥…« ±……¶… Ø˚0  2,00,000  
 +…™… EÚÆ˙ EÚ“ n˘Æ˙ 40% 
 |…∫i…… ¥…i… ±……¶……Δ∂… 25% 
 10% + v…®……x… +Δ∂… Ø˚0  1,00,000 
 20000 ∫…®…i…… +Δ∂… |… i… +Δ∂… 10 Ø˚0 Ø˚0  2,00,000 
 ∫…®…i…… +Δ∂… EÚ… S……±…⁄ §……V……Æ˙ ®…⁄±™… 27·50 Ø˚0 |… i… +Δ∂… ΩË˛* 
 §…‰S…‰ M…™…‰ ®……±… EÚ… ±……M…i… ®…⁄±™… Ø˚0   6,00,000 
 E÷Ú±… ∫…®{… k… Ø˚0   5,00,000 
 Æ˙Ω˛ i…™…… Ø˚0   1,50,000 
  §…GÚ“ Ø˚0 10,50,000 
  ¥…GÚ™… ¥……{…∫…“ Ø˚0     50,000 

 From the following information calculate : 
i) Earning per share ii) Dividend per share 
iii) Price earning ratio iv) Gross profit ratio 
v) Proprietory ratio vi) Stock turnover ratio. 
   6 
 Profit before tax Rs.   2,00,000 
 Rate of Income Tax 40% 
 Proposed dividend 25% 
 10% Preference Share Rs.   1,00,000 
 20000 Equity Shares of Rs.10 each Rs.   2,00,000 
 The current market price of the equity Share is Rs. 27·50 per share 
 Cost of goods sold Rs.  6,00,000 
 Total Assets Rs.  5,00,000 
 Stock  Rs.  1,50,000 
 Sales Rs.10,50,000 
 Sales Return Rs.     50,000 

+l…¥…… / OR 
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  x…®x… ∫…⁄S…x……+…Â ∫…‰ ∫…®……x……EÚ…Æ˙  S…_ˆ… §…x……<B : 
 31 ®……S…«, 2012 

Ø˚0 
31 ®……S…«, 2013 

Ø˚0 
∫l……™…“ ∫…®{… k…™……ƒ 
 ¥… x…™……‰M… 
S……±…⁄ ∫…®{… k…™……ƒ 
∫…®…i…… +Δ∂… {…⁄ΔV…“ 
∫…ΔS…™… B¥…Δ +… v…C™… 
S……±…⁄ n˘… ™…i¥… 

2,50,000 
1,20,000 
1,30,000 
3,00,000 
1,25,000 

75,000 

5,60,000 
1,12,000 
1,28,000 
5,20,000 
1,36,000 
1,44,000 

 From the following information prepare the common size Balance 

Sheet : 6 
 31st March,2012 

Rs. 
31st March, 2013 

Rs. 
Fixed Assets 
Investments 
Current Assets 
Equity Share Capital 
Reserve & Surplus 
Current Liabilities 

2,50,000 
1,20,000 
1,30,000 
3,00,000 
1,25,000 

75,000 

5,60,000 
1,12,000 
1,28,000 
5,20,000 
1,36,000 
1,44,000 

+l…¥…… / OR 

J…hb˜ - §… 
PART – B 

24. AIS E‰Ú EÚ…‰<« n˘…‰ i…i¥…  ±… J…B* 

 Write any two elements of AIS. 1 

25. b‰˜]ı…  b˜C∂…x…Æ˙“ EÚ…‰ {… Æ˙¶…… π…i… EÚ“ V…B* 

 Define Data Dictionary. 1 

26. EÚ®{™…⁄]ıÆ˙…<«Vb˜ ±…‰J……ΔEÚx… E‰Ú ±……¶… C™…… ΩÈ˛ ? 

 What are the advantages of Computerised Accounting ? 2 

27. ®……x…¥…“EfiÚi… ±…‰J……ΔEÚx… i…l…… EÚ®{™…⁄]ıÆ˙…<«Vb˜ ±…‰J……ΔEÚx… |…h……±…“ ®…Â +xi…Æ˙ §…i……<B* 

 Differentiate between Manual accounting and Computerised 
accounting systems. 2 
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28. DML ¥… DCL EÚ… BEÚ =n˘…Ω˛Æ˙h… ∫… Ω˛i… ¥…h…«x… EÚ“ V…B* 

 Explain DML and DCL each with one example. 2 + 2  

29. <±…ËC]≈ı…Ï x…EÚ ∫|…‰b˜∂…“]ı E‰Ú ±……¶……Â EÚ… ¥…h…«x… EÚ“ V…B* 

 Explain the benefits of electronic spread sheet. 4 

30. a) MS-Excel ®…Â BEÚ S……]«ı §…x……x…‰ E‰Ú S…Æ˙h…  ±… J…B* 

 b) BEÚ i…… ±…EÚ…  'STUDENT' E‰Ú ∫…fiV…x… E‰Ú  ¥… ¶…z… S…Æ˙h…  ±… J…B* 

 a) Write the steps of creating a chart in MS-Excel. 

 b) Write the various steps to create a table 'STUDENT'. 3 + 3 

    
 


